	Bilanciare
	  S  +     O2 

	Masse Formula
	 S =                O2 =                  SO3  =

	Quantità teoriche in g.
	  g.S =                   g.O2 =          

	g. di O2 con 3,2 g. di  S
	   g.S : g.O2 = 3,2 : X

	g. di  SO3  
	 


Considerate le reazioni: 
S  +  O2     
[image: image1] SO3
Ca  +  O2  
[image: image2] CaO
Cl2 +  O2  
[image: image3] Cl2O3
	Bilanciare
	Ca  +     O2               CaO   

	Masse Formula
	      =                 =                        =

	Quantità teoriche in g.
	  g.   =                   g.   =          

	g. di O2 con 4 g. di  Ca
	   

	g. di    CaO
	 


H2  +  O2 
[image: image4]  H2O
H2 +  Cl2  
[image: image5] HCl
	Bilanciare
	Cl2 +   O2                 Cl2O3

	Masse Formula
	      =                 =                         =

	Quantità teoriche in g.
	  g.    =                   g.    =          

	g. di O2 con 14,2 g.di Cl2
	 

	g. di Cl2O3
	 


	Bilanciare
	H2  +    O2              H2O  

	Masse Formula
	      =                 =                         =

	Quantità teoriche in g.
	  g.     =                   g.      =          

	g. di O2 con 8 g. di  H2 
	  

	g. di  H2O  
	 


